
 ∫
𝒔𝒊𝒏𝒙+𝒄𝒐𝒔𝒙

√𝐬𝐢𝐧 𝟐𝒙
  𝒅𝒙   

Find area of region in the first quadrant enclosed by curve 

y = 4x2, x = 0, y = 1 and y = 4   

∫ 𝒆𝒙
𝝅

𝟐⁄

𝟎
(
𝟏+𝒔𝒊𝒏𝒙

𝟏+𝒄𝒐𝒔𝒙
) 𝒅𝒙  

∫
𝒅𝒙

(𝒙𝟐+𝒂𝟐)(𝒙𝟐+𝒃𝟐)

∞

𝟎
 𝒅𝒙

∫ 𝐥𝐨𝐠⁡(𝟏 + 𝒄𝒐𝒔𝒙
𝝅

𝟎
) 𝒅𝒙   

Find the area of region bounded by curve 

 𝒚𝟐 ⁡= 𝟐𝒙, 𝒚 = 𝟒𝒙 − 𝟏⁡𝒂𝒏𝒅⁡𝒚⁡ ≥ 𝟎⁡.  

 

St. Austin’s Sr. Sec. School 
Self-Assessment Test 2019-20 

Subject: Mathematics     M. Marks:60 
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SECTION A (Each question carries 2 marks) 

Q1.∫
𝟏

𝟏+𝒄𝒐𝒕𝒙
  𝒅𝒙 

Q2.∫
𝟏+𝒙

(𝟐+𝒙)𝟐
 𝒅𝒙   

Q3.∫𝒂𝟐𝒍𝒐𝒈𝒂𝒙 𝒅𝒙  

Q4.∫
𝟏

(𝟏−⁡𝒙𝟐)
𝟑
𝟐⁄
 𝒅𝒙  

Q5.∫
𝟐𝒙

𝟏+𝒙𝟒

𝟏

𝟎  𝒅𝒙  

Q6.∫
𝒆𝒙

𝟏+𝒆𝟐𝒙

𝟏

𝟎
 𝒅𝒙 

Q7. Find area of region bounded by parabola y= x2 and y = |𝒙| 

SECTION B (Each question carries 3 marks) 

Using integration, Find the area of that ∆ABC whose 

vertices are A(2, 0),  B(4, 5) and C(6, 3). Ans 7 sq. units 

 

∫
𝒙 𝐬𝐢𝐧 𝒙

𝟏+𝒄𝒐𝒔𝟐𝒙

𝝅

𝟎
 𝒅𝒙  

∫
𝟏

𝟏+√𝒕𝒂𝒏𝒙

𝝅
𝟑⁄

𝝅
𝟔⁄

 𝒅𝒙   

∫
𝒔𝒆𝒄𝟒𝒙

√𝒕𝒂𝒏𝒙
 𝒅𝒙

Q12.∫𝒆𝒙 (
𝟏−𝒙

𝟏+𝒙𝟐
)
𝟐
 𝒅𝒙 
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